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@ 2x3+2x2+2x+3 @ 2x® +6x2-2x+3
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4. (23 -3x+1) + (2 +2) O AT oA
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@ x+1 @—7x+1
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o e eyl
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> EHE 0
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SLoa=-1
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® (x-1)°(x+1)2=x'-222+1

@ (x* - xy+y?) (X2 + xy +5?)
= (& +5%)* - ()
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7. (P +ax+2)(x2+bx+2)E AAMAS W, 2 39 AFE BT 0
o] H|A St= &= a, boll tiste] a + b o] 27
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ANS o) FH O F U AR Aol Fotof stz
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(4x° = 3x + 1)° & 7St xofl tish WA 0 = eshd
(4x% = 3x +1)°= apx'® + a1x? + azx® + - - + agx + a10 ¥ 20|
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oA7\H BE A4S 5
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x =15 tYstd "ot

=, (4-3+1)° =ap+a1+ag+---+ap
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12, f(x) =33 +px®+qx+12 7t x+2 2 Yo" XA, x -1 2
thirolgold u, 4 o) greg
P

9 @ ®-9 @®-3 @ ©-12

f(=2)=-24+4p-2g+12=0
f)=3+p+qg+12=0
qg -12

p:—3,q:—12’ _——= —_——=
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13, xofl et ohdA] &3 +ax® + bx +2 5 2% —x + 1 2 e Y7t
x+30] HEFa, b FE FL W, ab S F5toizt
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> HE: ab=-6
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RPN
Pra®+bx+2=x*-x+1)-A+ (x+3)
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g9e Gt

a=-2,b=3
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o] #t= oY
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B ~

X+y+z=1°A

x+y=1-z
y+z=1-x
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(x+»)0+2)(z+x) =(1-2)(1-x)(1-y)
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16. Al Asa,b,col Hotd a+b+c =2, a2 +b*>+c? =6, abc = -1
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B ~

(a+b+c)?=a%+b?+ 3+ 2(ab + be + ca)
ab+bc+ca= -1

a+ b+ 8
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La=1 b=-1
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> E
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f(x) =(x-1)Q(x) +3
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=(x-1)x+3)Q(x) +2(x-1)+3
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b, ke U AlE 204 1
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-2 =-2f(-2) = -2r

a

4




25.

=
=

O P tax +hx+ 18 x+ 12 e o

T AR=

=l
o2 22 2YPAHOR ot gtk o2 F &

)
I ot

L
Mo M
)

5 T
Mo =

—
S
—_

@azS @ b=2 ® c=-1
@

O34 P 4ax +bx+15 x+ 158 el o] 53t A&
< o]-&sto] Fobd oh5 3 At

a b 1
-1 —a+1 -b+a-1

1 a-1 b-a+1 -b+a

ol k=-1,c=-l,d=-a+1,b-a+1=-1,-b+a=2
ojlm=z




